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Post-Lab Analysis and Questions

1. Assuming there were no daughter isotopes in the original artifact sample (when the artifact was made), determine the
total number of parent isotopes in the original sample (parent + daughter) for each artifact. Enter the data in the results
table.

2. Calculate the percentage of original parent isotopes remaining in each artifact by dividing the number of parent iso-
topes in the sample by the original number of parent isotopes and then multiplying by 100. Record the percentage in
the results table.

3. Using the graph above, determine the number of half-lives for each sample. Record in the results table.

4. Multiply the number of half-lives by the half-life of the parent isotope from the Experiment Overview section to estimate
the age of each artifact. Record in the results table.

5. Which excavated layer number contained the oldest artifact? Which contained the most recent?
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6. Based on the results of this activity, estimate the possible age range of the artifact from the layer that was not dated by
your group.

7. What do the red chips in the artifacts most likely represent?

8. The limit to radiometric dating using a particular radioisotope is usually 8 to 10 half-lives. Suggest a possible reason
why this might be true.

9. Itis possible that some of the daughter isotope is already present at the formation of a particular artifact. How would
this affect the accuracy of dating the artifact?
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